Ancient: Percent Agreement
with the Hebrew

By definition, (a) readings agree with the Hebrew;
others do not.

Seq Rdg Cnt
1 Hebrew
a 22 22/22 =100%
2 Greek LXX/OG

a 7 7/22 =31.8%
b 4
c 1
d 2
f 1
o 1
u 1
X 5
3 GreekTh
a 10 10/22 = 45.5%
b 9
c 3
4 Syriac
11 11/22 =50%
b 2
C 4
o] 1
u 4
5 Coptic
8 8/22 =36.4%
b 7
C 4
o 1
u 2
6 Latin
a 13 13/22 =59.1%
b 6
d 2

Armenian
a 7
b 8
o 2
d 1
u 1
X 3
Ethiopic

a 14
b 3
d 3
e 1
u 1

7/22=31.8%

14/22 = 63.6%

Old Church Slavonic

a 9
b 10
c 2
o] 1

9/22 =40.9%



